20195 SHETEE
BEFEAEIEA WRYI NSRS

ES S A BHI|lE BB B| & % (@ X BRIZE (%)
BEMRASEEAR 48298 | H 9~17 &H 4 |—MEE&ZT - 358BL
BEMREASEEAS 6888 T | 9~17 | =WiR 8 |—MBEF
HEMRASEEAR 6H9H = 9~17 EiR 6 |45~758%
ERMEASWEEFHRY -2 8817 | L | 9~17 R 6 |BF1-2- 3BESIELESD
EWEMRASWERKY -2 9A1H = 9~17 | #tz@ 4
ERMEASWEEHRY -2 987H + | 9~17 At 6
EWEMRASWERGKRY —J 108198 = 9~17 =wiR 6
ERMEASWEEHRY -2 108208 H 9~17 EEE 4
EWRMRASWERERY —J 10826H| L | 9~17 | XIKHE 8
WEMRASWERKRY -2 128228| H 9~17 ER 6
EWRMRAREZEHAGKY -0 18118 | £ | 9~17 At 6
WEMRASEZEHAEKY -0 18258 | * | 9~17 ER 6
EWRMRAREZEHAGKY -0 18268 | H 9~17 = 4
ERMEASEEEHRY -2 3H8H =| 9~17 PN; 4
EWRMRAREZEHAGKY -0 38158 | £ | 9~17 At 6
ERMEASEEEHRY -2 28158 | £ 9~17 =WYiR 12

- 9~15 | AHHE 8
HERMEAS SVIOIARE 28168 | H T T :

HWEMRAS ZVIRKRE 38158 | H 9~17 At 6
R R— xﬁ%% 6828 = 9~15 riZH 4 |EES
BRI AR—\YIREEE 6H9H =] 9~15 perilaa| 3 |[#FEEs
HHEAR—Y B 6H158 | =L 9~15 AR 4 |@EB=
B AR—\YZREE 68238 | H 9~15 PN 4 |@&ZBa
HHEAR—Y B 68298 | =L 9~15 EEE 4 |@EB=
ARV ZREE 7878 = 9~15 e 3 |[EE8s
FEIVEEBEMEX R—VYRMAS | 12B18B| H 9~19 =WViR 14
WEY I NFZRA-TUBEFIEAR| 11H2H| £ | 9~17 iiES 6
BRY DI N AA -T2 EFEAR|11A16H| * 9~17 £l 6
RV DI N ZAA-TRFIEXS| 12B8H | H o~17 A 6

X FEPRBICIDEEIDIHZENGDFT, Fillld. EREBIRZIHERITTS.

RS 1“7 Nm EEE(hE) |12B158) B | 9~17 | #iizH 4

MR 1 T hm EEE(RFE) | 18138 | A 9~17 | #ZH 4

MR 1 Z7kNm EEE(HRF) |1A258 | £ | 9~17 Afi 4

WA 1 7MiM ESEE(PFE) | 3B14H | £ | 9~17 | #izH 4
ES % A B |E B| ¥ M| £ & |[@ RIS (%)

mREAZ 5822H| K | 9~17 | Z=WiR 8

(>=77] KU —TR= 11827H| K | 9~17 | =WiR 8

£532[0] 58H | X | 11-15 | Z=WiR 2

LERREUR BFEERR 5A16H| K | 11-15 | =wWiR 2

6H138 | K | 11-15| =WiR 2

=310 7H11B| K | 11-15| Z=WiR 2

SERREUSBRICIHMERS 8A8H | A& | 11-15| =WR 2

9812H| A& | 11-15| =WiR 2

AR L/9~IYI2AUR - [iog108] & | 11-15 | =wR | 2

10824H| K | 11-15| =wWiR 2




